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Question Number : 1 Question Id : 8643515491 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
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An oil drop of radius 2 mm with a density 3 g cm 3 is held stationary under a constant
electric field 3.55 x 10° V m ~! in the Millikan’s oil drop experiment. What is the number of
excess electrons that the oil drop will possess ?
Consider g=9.81 m/s”
Options :
86435116471, 173 %1010

10
86435116472, 17310

. 12
86435116473, 170 %10

11
86435116474, 8-8x10

Question Number : 1 Question Id : 8643515491 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

dlgfleoe@ agen el aldexemoid @oo 2 mm Ho MWOME® 3 g cm ™3 Ho H8Y B0}
ag)eR@Ed] 3.55x10° V m~! eecgym asmuaiemlcd dluziamoss] wildesiaideniom,.
ag)epoiedlicd oas @owWldkho ERIHKEISITMBEINS ag)efo af)@WIwdlee)o

g=9.81 m/s% ag)0Mn} DL dkb.
Options :
i 10
86435116471, 172 %10

10
86435116472, 173> 10

. 12
86435116473, 172 <10

11
86435116474, 15810

Question Number : 2 Question Id : 8643515492 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A constant power delivering machine has towed a box, which was initially at rest, along a

horizontal straight line. The distance moved h}r the box in ime ‘t’ is proportir:mal to :

Options :
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86435116475, /2

(1/2
86435116476.

{2/3
86435116477.

L
86435116478.

Question Number : 2 Question Id : 8643515492 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
mlrzanumoelcl oaa an) ealgew e alovallm emdersudlaies ao) qudenow

alu® m@da)m eoadld el aliodoemziealoel. I mowemlad ealg) muemdles o
BlEEWIM, @RMlalowleaem

Options :

86435116475, /2

(1/2
86435116476.

{2/3
86435116477.

L
86435116478.

Question Number : 3 Question Id : 8643515493 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Four identical long solenoids A, B, C and D are connected to each other as shown in the
figure. If the magnetic field at the center of A is 3 T, the field at the center of C would be :

(Assume that the magnetic field is confined with in the volume of respective solenoid).

Options :

86435116479, 1 T

86435116480. oh

86435116481. 3

86435116482. o

Question Number : 3 Question Id : 8643515493 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
8e0 Galonelwes mMoel emoslemoiaastd A, B, C, D all@emiad el alldleninm

caloeel ceislaflafldsnim). A @es awiorilelgs Hontlld membelo 3 T @6 M,
C s awymiess aembelo @dlenio:

Options :

86435116479. 1T

86435116480. i
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86435116481. S

"
86435116482. e

Question Number : 4 Question Id : 8643515494 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The P-V diagram of a diatomic ideal gas system going under cyclic process as shown in

figure. The work done during an adiabatic process CD is (use y=1.4):

A D
200N/m2f-——=----- <
&
100 N/m2 |- __ T
B! Lo
| | |
| | |
P | o
| | |
| | |
| I
| | |
| | |
| | |
| | |
| E
1 | |
1 3 4
4} vV [m3}
Options :
86435116483. i
86435116484. 500 ]

86435116485, 200 ]

0]
86435116486.

Question Number : 4 Question Id : 8643515494 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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80} 6jieRodls EREBU QUM &) 20k lHRElans &HSMMEandWEaod oas
P-V oo aflimedlad soemlafldlenimm). CD @eav@sniogld ol@loald 6olom

(ool @@em (y=1.4 af)MMinlC@OUIlee) )
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100 N/m2} - g B
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I I I
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I I I
1 | |
1 3 4
—» V(m?)
Options :
400 |
86435116483.
86435116484, 200 ]

86435116485, 200 ]

400 J
86435116486.

Question Number : 5 Question Id : 8643515495 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The position, velocity and acceleration of a particle moving with a constant acceleration can

be represented b‘i, :

Options :
86435116487.
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Question Number : 5 Question Id : 8643515495 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

oudlemom @IEeMEmmINS alelld )M 6] @Hemildhm RS maomo, [lEnIMo, @IreMo ag)rila
o) aflo flenyma)
Options :

86435116487.
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2 ) e // : _ a(t)
x ) 0 - k=)
5 o = > 3
] k- / =
= o
£, 2 =
i)
— —> — %t
86435116488.
§ =
o o) LI S
A B O 2 a ()
g—c _-d'"'-' g E‘
" 'l
—»t —r t . TR
86435116489.
N g .
0 g a (t)
g «© E £
£ & g
i — —]
g Lot g
]
—t — —>» t
86435116490.
-~
e ) =
= 38~ IS o 2 a(t)
= o 5 =
T | S ; =
]
—>t i —> t

Question Number : 6 Question Id : 8643515496 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

An AC source rated 220 V, 50 Hz is connected to a resistor. The time taken by the current to
change from its maximum to the rms value is :

Options :
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86435116491, = TS

86435116492.

86435116493, 0-20 mS

86435116494, 2 S

Question Number : 6 Question Id : 8643515496 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
220 V, 50 Hz eog eaudi@ldlenim &) AC cruodm) &) (al@lendwl)mo ]
iUl Lo ldleanimy. &0 alemociWldi@ aflomy rms allaigfiealds) ag)@mom ag)sieeiom

rua@amoe :
Options :

86435116491, = ™S

86435116492, = TS

86435116493, 0-2° mS

86435116494, 2 S

Question Number : 7 Question Id : 8643515497 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In Young's double slit arrangement, slits are separated by a gap of 0.5 mm, and the screen is

placed at a distance of 0.5 m from them. The distance between the first and the third bright
fringe formed when the slits are illuminated by a monochromatic light of 5890 Ais:

Options :

7 12
86435116495, 1178 X107 = m

86435116496, 2890 %10~ " m

- L
86435116497, 1178107 " m
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1178 x 10~ ® m
86435116498.

Question Number : 7 Question Id : 8643515497 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
wedlomd g qia wdaeremaniad @lQietd madlad 0.5 mm allsayeng. &jsoem Qi

@pafladd aflomio 0.5 m cleewld alafldenimm). 5890 A saa &) afUBEN (ald0000
Odh06NE (alddtlaflalGa|otd HMEIW ERRIOAMWie BIMIBOED®Io O 2H)DIRN
(ndlerndasisailenas ciomoem :

Options :

7 12
86435116495, 1178 X107 “m

86435116496, 2890 > 107" m

o 9
86435116497, 1178 <107 " m

1178 x 10~ ¢ m
86435116498.

Question Number : 8 Question Id : 8643515498 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A particle is travelling 4 times as fast as an electron. Assuming the ratio of de-Broglie
wavelength of a particle to that of electron is 2 : 1, the mass of the particle is :
Options :

86435116499, O times the mass of e

1
— times the mass of e
86435116500, 16

86435116501. 16 times the mass of e

3 times the mass of e
86435116502.
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Question Number : 8 Question Id : 8643515498 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

B0) dhemlds NElsESIeNIemendtd 4 ases eumnmEIT @MY &emle:m)nsw)o
el ESoeMIaM®@io Awl-elenow ®mroweecdee)msdd mailegs ®@omialdmo
2 : 1 @peemeslal, enflaies aomi apen

Options :

86435116499, ¢ GMANOCD § SEVE

1 2
o T BMERNID — msens
86435116500. 16

26435116501, © GBI 16 msevs

1
e~ GMED 3 MSETE
86435116502.

Question Number : 9 Question Id : 8643515499 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The time period of a simple pendulum is given by T = Z.TJI. The measured value of the
&

length of pendulum is 10 cm known toa 1 mm accuracy. The time for 200 oscillations of the

pendulum is found to be 100 second using a clock of 1 s resolution. The percentage accuracy
in the determination of ‘g’ using this pendulum is “x". The value of “x" to the nearest integer
1S,
Options :
2%
86435116503.

3%
86435116504.

4%
86435116505.

5%
86435116506.
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Question Number : 9 Question Id : 8643515499 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
80} MO8 Salawjelmdlon EUdGMM &oelo T= 2.7\/1 ag)(Mn b EM &I HH 0.
g

ealdaiemion age 1 mm dymmaiad 10 cm agiomie 200 GEIAIMETRIILES TVADO

100 emenmda’ af)om 80} 1 6V HOOMOLaHUMD D8R EEods Salt®iuilalle

@oCl@oo.
ealidavielo Sale@otilal ‘g’ @I8LOHIMELIER] WMAIM HY@® ‘x' @M. afRalle
@SEm alldemmoa@iad ‘x' e allei@oe :
Options :
2%
86435116503.

3%
86435116504.

4%
86435116505.

5%
86435116506.

Question Number : 10 Question Id : 8643515500 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Imagine that the electron in a hydrogen atom is replaced by a muon (). The mass of muon
particle is 207 times that of an electron and charge is equal to the charge of an electron. The
ionization potential of this hydrogen atom will be :

Options :

86435116507, 100 eV

86435116508, 2/-2 €V

86435116509, 2212 eV

86435116510, 25192 eV
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Question Number : 10 Question Id : 8643515500 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
peanlWRM® epqoTileles elsesoaiom auenomd (1) @Es) agMmy e @allde)d.

myecUoemln olode 0rIdhE(SoemIm) mumalje MM ek ESIeeme#ndtd 207 mssmslo
@M. HHOWRMD EPROTIOND HafELIOEEMETAUM ealosMay@ mowldleio :

Options :

86435116507, 100 eV

86435116508, 2/-2 eV

86435116509, So1-2 eV

86435116510, 25192 eV

Question Number : 11 Question Id : 8643515501 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A radioactive sample disintegrates via two independent deca}-' processes havf_ng half lives

W 0 _ _ e, i
1, and 1, respectively. The effective half-life, TEE of the nuclei is :
Options :
(1) 1+ (2)
TL_, Tl,-'
Ty, = {2 72
1/ 1/
86435116511. /2 /2
TT:-_’;: = Ti_l,.} | TE}
86435116512, 2 72
(1) (2)
Tl_:'z' | TI.J_£
le - T _ 2
Y
86435116513. ' ’

86435116514, LNone of the above
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Question Number : 11 Question Id : 8643515501 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

0 10
8] coulleo @il muomilid @Lnodkae T1,_,2- ; T1_,£ ag)0il @EAWIWITIES EeNE M®(D

GUROAHEM (i@l Yl EUROaHlE®)M). MIEIHOWWIOS Manel ERBUWOIWITY .Tl,{-,,: @6 :
Options :

(1) +2)

Ty Ty,

Ty, = 42 72
86435116511. /2 /2

A2 ,
86435116512. /2 /2

_ kK h
1/ 1/
86435116513. /2 /2
COMaOmMMO &0mMIm
86435116514. t 325

Question Number : 12 Question Id : 8643515502 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A loop of flexible wire of irregular shape carrying current is placed in an external magnetic
field. Identify the effect of the field on the wire.

Options :
86435116515, shape of the loop remains unchanged

86435116516. loop assumes circular shape with its plane normal to the field

26435116517, loop assumes circular shape with its plane parallel to the field

86435116518 wire gels stretched to become straight

14/93
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Question Number : 12 Question Id : 8643515502 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HOME UadlHe)Mm, (HOaSIODIW @R6G:Elwies 80} st HMiwies e} eljaf 6o}
erU0a0ld SOl membalmdlad alalldlenim). emiaicd asmbeliemlon leoclo
o) O ez flSles db.

Options :
86435116515. Sgflo @oagel aodly

86435116516, DEMVEKKN] Llosaod ea] AISIRE HaBaIdsnl

memweliedfimy maomea elja] QISH®:)E He®Idleno
86435116517.

86435116518, T Qellemmy spalloaoale

Question Number : 13 Question Id : 8643515503 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the experiment of Ohm’s law, a potential difference of 5.0 V is applied across the end of a
conductor of length 10.0 cm and diameter of 5.00 mm. The measured current in the conductor
is 2.00 A. The maximum permissible percentage error in the resistivity of the conductor is :

Options :

86435116519, -9

86435116520. 7.3

86435116521. 8.4

86435116522. 3.0

Question Number : 13 Question Id : 8643515503 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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80} 8latam dloa aldledemewla, 10.0 cm olgalje, Alpme 5.00 mm o HER &M}
2I0BIHETINY 00 5.0 V 5alongBadi@d Ql@omo adh0sSiOBlaleaiom). oloeldora
@am HOM@ 2.00 A @pem. aelsHowlen eomigilalglola aermicuclensalyom
alo@mocuull rummom alflvadoen)
Options :

86435116519, -9

86435116520. 7.3

86435116521. 8.4

86435116522. 3.0

Question Number : 14 Question Id : 8643515504 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The time period of a satellite in a circular orbit of radius R is T. The period of another satellite
in a circular orbit of radius 9R is :

Options :

86435116523. 3T

86435116524.

86435116525, 2/ 1

12T
86435116526.

Question Number : 14 Question Id : 8643515504 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@do R ©88 60} 210dld: (BReMaln@Eld £88 &) Hallanmrmie ) epadamm d&oelo

T @em. IR EDOMIER 210wl (BDeMal L@ 88 160} Sal(an®E ol @RUBdEHM

EHILIMOEM :
Options :
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86435116523, ° ¢

86435116524.

86435116525, 2/ 1

1271
86435116526.

Question Number : 15 Question Id : 8643515505 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a series LCR resonance circuit, if we change the resistance only, from a lower to higher
value :

Options :

86435116527. The resonance frequency will increase

86435116528, The bandwidth of resonance circuit will increase

86435116529. The quality factor will increase

The quality factor and the resonance frequency will remain constant
86435116530. ) 2

Question Number : 15 Question Id : 8643515505 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

80} euaem] LCR mudaydad mmad (alalenowamm momo ot allaidaior’ aslo
alleioflcalss) moglaod :

Options :
86435116527, TOTUMOB GO ajSio

26435116508, BOMIMOB udbdygladd snomasallasam d)sio

26435116529, .ﬁaja@ﬁl anodhsh UdaUlenlo
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86435116530, 0gld] anodssOlo @MIMB ERMETIwe mQdlge®m ®mISolo

Question Number : 16 Question Id : 8643515506 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Your friend is having evye sight problem. She is not able to see clearly a distant uniform
window mesh and it appears to her as non-uniform and distorted. The doctor diagnosed the
problem as :

Options :

8643511653 1. Myopia and hypermetropia

86435116532, Fresbyopia with Astigmatism

86435116533, *stigmatism

86435116534, Myopia with Astigmatism

Question Number : 16 Question Id : 8643515506 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
leBRIes Mua0)@WM) Ho¥alwds (aITmaens. @oaIdHs) BlOTMIER B0) 20Llhanland

ODad QAUBMDID] HOeMINTIIOL M DO®DL, @O @OUDDHE afSH®IMALIO®m@I0
@OO(BoMdEOMINS®Y0 MMM, EAIHSD 9 (alwdmEdiad aildepwi.ajm

Options :

pewonflo®io HBa0a|d AaeSI oo
86435116531.

26435116532, O miencwonlowie @Eiluimogloualio

miclvimog]auo
86435116533. et 8

86435116534, meoallowie @d@Ivimogimunlie

Question Number : 17 Question Id : 8643515507 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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What will be the average value of energy along one degree of freedom for an ideal gas in
thermal equilibrium at a temperature T ? (k; is Boltzmann constant)

Options :

kg T
86435116535.

kgT

M| =

86435116536.

kgT

2 | e

86435116537.

2
86435116538.

Question Number : 17 Question Id : 8643515507 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T moaltfle@d @oal mummelmnc endlenim e} epad cUOGHETOMm any sl

80ad fadovaileoswigs oodemlen woond allel agmowidkenie ?

(kg eenuoGdSmMimod udlaoso @em )

Options :

kT
86435116535.

kgT

M| =

86435116536.

kpT

b2 |

86435116537.

2
86435116538.

Question Number : 18 Question Id : 8643515508 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 1L

List - 1 List - 11
(a) 10 km height over earth’s surface (i) Thermosphere
(b) 70 km height over earth’s surface (ii) Mesosphere
(c) 180 km height over earth’s surface (iif) Stratosphere
(

e

d) 270 km height over earth’s surface (iv) Troposphere
Options :
86435116539, @ (V) (P)-(iH). (©)-(a1), (d)-(1)

86435116540, 2 (D), (b)), (0)(1), (d)-(iv)

86435116541, @), (B)-(1), (0)-(iv), (d)-(ii)

26435116542, @)r(1), (0)-(v), (c)-(ii), (d)-(i)

Question Number : 18 Question Id : 8643515508 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
elimy - 1 .ellgy - 11 ol ealnjonlsl 3.olddaeids

1}

el
(a) ewes suldmaodd dlone 10 km s@ee (i)  embdendmindlwd

e eflgy - 11

(b) edoles sudoaedicd dimie 70 km ewee (i)  dlemomiadlod
(c) edwes guldmaeddd dimmie 180 km e@eo (i) milsoepomiad@d

(d) edowes sudoaiedlcd dlimie 270 km ®@eo (iv)  eSoeloMiadlwd

Options :
86435116539, @r (), (b)-(iti), (c)-(ii), (d)-(i)

86435116540, & (1) (B)-(1D), (€)(1). (A)-(tv)
86435116541, @- (), (b)-(1), (c)-(iv), (d)-(ii)

26435116542, @)F(1), (0)-(iv), (c)-(ii), (d)-(ii)
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Question Number : 19 Question Id : 8643515509 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A piane eiectmmagnetic wave of frequency 100 I'\«_'II-IZ is traveﬂmg_ in vacuum a__'tnng the

—3 A A
x-direction. At a particular point in space and time, B = 2.0 x 10 kT (where, k is unit

vector along z-direction) What is E at this point ?
(speed of light c=3x10% m/s)

Options :

06 j V/m
86435116543,

86435116544, -0 1 V/m

6.0 k V/m
86435116545

86435116546, 0 K V/m

Question Number : 19 Question Id : 8643515509 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
100 MHz @ojon]@ies 60} lal@el®el 60a)m-&oNTld: Mmoolo tdlMmmalles

x- Gl memidlen ). B80) (alEmyd TuNLRI-d:0 LlEva, B=20x10% A T
(enadles , k ag)M® z -Clealdd 988 afie mudleaoen ) @oem. v enllmnlld oas E
ag)mosm ?

(laumonEmilen eaum® c¢=3x10% m/s)

Options :

06 j V/m
86435116543

86435116544, 00 1 V/m

6.0 k V/m
86435116545,
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86435116546, 0 K V/m

Question Number : 20 Question Id : 8643515510 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A thin circular ring of mass M and radius r is rotating about its axis with an angular speed w.

Two pa.rfic[es havf_ng mass m each are now attached at diametriq:all}-' opposite points. The

angular speed of the ring will become :

Options :
M

M 4
86435116547 m

86435116548.

M-2m
_LJ e e e et
M+ 2m
86435116549.
M+ 2m

86435116550. M

Question Number : 20 Question Id : 8643515510 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@om)' M ©o @0 r Ho H8R B0} dhMo &0 (Ueo @eAle) @peH@Tim) alifio

CHOeMI@ GOUWO w BGWOSIdHISI HOBIMY. MM M OB 6N} @M ldhd(d SO 6
clomadlent eensgereslan neajoid caislaflalldeniom) ciswanilen estemle ealwo
EDEa JoUd

Options :

M

M+ m
86435116547.

M

iy ———
M+ 2m

86435116548.
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M —2m
86435116549.

M + 2m

o —
86435116550. e
Physics Section B

Section Id : 864351368
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351368
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 8643515511 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An npn transistor operates as a common emitter amplifier with a power gain of 10% The
input circuit resistance is 100 £} and the output load resistance is 10 k{}. The common emitter

current gain ‘B" willbe . (Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 8643515511 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

23/93



3/18/2021
80} npn (SoMMIMD aloud enad 10° 9as an) emonsm againd @ogllanwd Epw
lalud@dflanim). emalls mdays lalerdwo 100 ) o &V5al)S eI alallenowo
10 k(2 ©o @mem. esomend ag)alnd H0d emneiad ‘B aoeldeeio.
(a@aUle @PSIEM alldem qoalyid )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643515512 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A ball of mass 10 kg moving with a velocity ' 10./3 m/s along the x-axis, hits another ball of

mass 20 kg which is at rest. After the collision, first ball comes to rest while the second ball
disintegrates into two equal pieces. One piece starts moving along y-axis with a speed of

10 m/s. The second piece starts moving at an angle of 30 with respect to the x-axis.
The velocity of the ball moving at 30° with x-axis is x m/s.
The configuration of pieces after collision is shown in the figure below.

The value of x to the nearest i_nteger is

Y-axis *  piece 1

71=10m/s
\Kr X - axis

S

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643515512 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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@0 10 kg 988 1043 m/s (ICQUNEOMONS x-@Hu@Td emsym 80} almm

oleaencaimoola oas 20 kg almileom eslenimm). eslHe Gdato EDEIOED alOm
MlvRILIMOOh@io MENBIDOAM al MeNE Miel) ROMEERIL] MmCIWie®Io 6.01QImM).
60} @00 y-EoHUOTees 10 m/s ecounmald dilemond @ooodlenim). nemRIDe®EM
BOWo x-@RHHUATIM 30° emoemanlia mlesomd @Emeocleniom). x-@oeHmTlm)
30° emoemgall@d aflemsiom comamleon leaio x m/s @M. SIHjCaHDIan
cowemBalns @oalmun ol@aslad eoemlalldleaiom). agRlio @SIEM alldem qosjwilad
x &) allei@oem

y- axis Piece 1

‘U]:]Umfﬁ

» X -axis

307

Ug
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643515513 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The voltage across the 10 (1 resistor in the given circuit is x volt.

50 ()
— VWV AMN—r
100 20 0
y
170V $

| ! -
The value of ‘x" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 23 Question Id : 8643515513 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@mldlenim muddglad 10 O plalerowmdim] &i0iehwies ealotdesed x eaodgmy

i

[BImETT).
50 (1

—AW—

10 Q0 2042

170V
|I

a@fCUle @RS} alidemmcali@iad ' em allei@osm
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :
100

Question Number : 24 Question Id : 8643515514 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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B

10 m
hﬁﬁi’aﬂﬂtﬂ
Eﬂf i‘aﬂe

Y

As shown in the figure, a particle of mass 10 kg is placed at a point A. When the particle is
slightly displaced to its right, it starts moving and reaches the point B. The speed of the

particle at B is x m/s.
(Take g=10 m/s?)
The value of “x’ to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643515514 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A
3 k=

alieemld &oemlafldlesirn ealoeel 10 kg moMas B0} @emlde A agm enillo3jafld
o afldlenimn). demile eoi0)monl el eomermdes miaslwoad @ee alella)l B agom
enflzjalldd ag@silealele. B agmm enflosjalled eerlewins eolvmwosm x m/s afaljo
@S olidemmoaj@i@d, x 6 afleosm’

(Take g=10 m /8%
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 25 Question Id : 8643515515 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A particle performs simple harmonic motion with a period of 2 second. The time taken by

the particle to cover a displacement equal to half of its amplitude from the mean position is
3

— 8.
d

The value of ‘a” to the nearest integer is
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643515515 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

@DUABHM HoLlo 2 HIVBNHMEAIS)HIS] BM) hemMid M anodeaoemlea alimo

msamm). eealen mmmele apcimola dlmie aalen emMAEwes ol
.

UOMONMRE MSEMIMD denild: ag)Sienlom Moo 3 S @D6).

a@fCUle @RS aljdem moal@l@ ‘a’ @yes aflei@oeny

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643515516 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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C=3uF 5 M(}

| —WWW—

I\

The circuit shown in the figure consists of a charged capacitor of capacity 3 pF and a charge
of 30 pC. At time t=0, when the key is closed, the value of current flowing through the
5 M} resistor is ‘x" pA.

The value of “x" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643515516 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

C=3pF 5 MO
| |
| AAAA"A

q=230pC

\

ommildlenim all@emiea mddaiglad 3 pF sdalomiigloigs el 2ot aolo®
dhaldmilQolo 30 pC 2lod®lo oM. Ma®o t=0 @ &l @rseTwldleniemiod 5 MO
(I @leRoWETIRNOS B91BIM SO x' pA @oem.

afRCUle @Psiem aljdem moal\@idd ‘1" o) alleiwosmy

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 27 Question Id : 8643515517 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
A person is swimming with a speed of 10 m/s at an angle of 120° with the flow and reaches

to a point directly opposite on the other side of the river. The speed of the flow is ‘x" m/s.
The value of “x’ to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643515517 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

80} BTl 89ieslemos’ 120° emoemaalldd 10 m/s ealnmeIns Ml allPwies
m0yEomem emee Alladlemacw ao) enflmjala ag@sll aigim). evisslan eawoe
‘Y’ m/s @M. apRQlle @RS alidemmuoaliid ‘¥ oM alleiwoem

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 8643515518 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Two separate wires A and B are stretched by 2 mm and 4 mm respectively, when they are
subjected to a force of 2 N. Assume that both the wires are made up of same material and

the radius of wire B is 4 times that of the radius of wire A. The Iengﬂi of the wires A and B

a
are in the ratio of a : b. Then p can be expressed as — where x is
x

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 28 Question Id : 8643515518 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

o6ens) dbMiléd A @jo B @jo 2 N nltlo O&HIS|OMER|00d @LOdh@o 2 mm o, 4 mm o
cuellemm). nenz) Bmllealo B8EO UMM, Odboeme) midaml ojmonemmyie &mil B @ies

@00 A WIEMENID 4 MSETBIOEMM o BOiMid. Mllatd A @Oswio B @iHs® o

a b |
g a : b agm @omjalomeniacer. — om — avdladerisnonnmsldd x @6y

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643515519 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A parallel plate capacitor has plate area 100 m” and plate separation of 10 m. The space

between the plates is filled up to a thickness 5 m with a material of dielectric constant of 10.

The resultant capacitance of the system is ‘x" pF.
The value of £,=8.85x10 12 F.m !
The value of ‘x" to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643515519 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

31/93



3/18/2021

80} alooeldd egld dalomigdla egyq allmialidemo 100 m? o eglRieid manilenss @od:elo
10 m ®o pene. eg RidhUdasiisiielgs quaelo 5 m e 10 Ha elsSlde: mudlaomo O88
80} cumimiad:0me riloafldlenimy. e moallwom@slan Manel dmaldmilgadmy ‘x' pF

ir

@6’
(€g=8.85x10"12 F.m~1)
aAUe @RS)Em aljdem mosu@iad ‘x’ eg alleiosm

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643515520 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A bullet of mass 0.1 kg is fired on a wooden block to pierce through it, but it stops after
moving a distance of 50 cm into it. If the velocity of bullet before hitting the wood is
10m/ s and it slows down with uniform deceleration, then the magnitude of effective retarding
force on the bullet is “x” N.

The value of “x’ to the nearest integer is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643515520 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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0.1 kg moMIe8 &) OHrUSIwieNe ao) Doallhalleles aljbemaoel @isemm) H@OeMemm),
H0)0) omldominllg). weed 50 cm aleealeles dlemloaing ctato @om) allom).
noalelhelldd mgymalin] ames eerwes (etumo 10 m/s @pU®m@le allmls e
@IOEMOTI @ LN BHIOW Mo O alimienslc sl Haa uanal madlenemeniglo
(retarding force) x” N @em.
a@fCUle @RS} alidemmoali@iad ' oM allei@osm

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Chemistry Section A
Section Id : 864351369
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351369
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643515521 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a binary compound, atoms of element A form a hcp structure and those of element M
occupy 2/3 of the tetrahedral voids of the hep structure. The formula of the binary compound
is :

Options :

86435116561. i

M,A,
86435116562, 4
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86435116563, MA3

86435116564, MaA

Question Number : 31 Question Id : 8643515521 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
80} eemimd Mo A ag)m djeldorlan aaasmetd hep ceismallaljo M agm

mjeldomilen @Remetd hep calsm@ins eS(Stadliwad CrRWHEIeS 2/3 IMNEM)o

cudlalea1gom). e00 eeeMG] MoWEM BN Canddmiel
Options :
86435116561, 243

M,A,
86435116562, 4

86435116563, MA3

86435116564, MaA

Question Number : 32 Question Id : 8643515522 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A certain orbital has no angula_r nodes and two radial nodes. The orbital is :

Options :

I
]

86435116565, 2
2p
86435116566.

86435116567.

3p
86435116568.

Question Number : 32 Question Id : 8643515522 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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80 (emd sodemlgelm apmwiend emowisglgl, agmom e’ ol
EMIWhHRINE. 800 aodenlliqed :
Options :

86435116565, 25

86435116566, -F

86435116567, S

86435116568, P

Question Number : 33 Question Id : 8643515523 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
(Process) (Catalyst)
(a) Deacon’s process (i) ZSM-5
(b) Contact process (i) Cull,
(c) Cracking of hydrocarbons (iii) Particles ‘N
(d) Hydrogenation of vegetable oils (iv) V,0s

Choose the most appropriate answer from the options given below :
Options :

86435116570, (@r(1V), (B)(iD), (c)-(1), (d)-(iii)
86435116571, (@ (i), (b)-(i), (€)-(iv), (d)~(ii)

86435116572, @), (0)-(v), (c}-(), (d)-(iii)

Question Number : 33 Question Id : 8643515523 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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algld - I, algld - 11 U @aldjoalS] @alddsejd:

alSldh - 1 algles - 11
(Lol (5l aw) (awogelay)
(a) by (oo (i) ZSM-5
(b) GHOENMSOHBS |n Bl (i) CuCl,

(c) ©eanewo @Hodenlemieales alleaismo (iii) ‘Ni" dhermnemacd
(d) MY agePRHERIes Oen0eWIeRMa® (i) V,0;

moemmildlenim soalamaeda olom agralle pallmno® oEmoo GlOOETNS|HEid:.
Options :

6435116569, (@)-(1), (b)-(ii1), (c)-(ii), (d)-(iv)
86435116570, @F (), (b)-(id), (c)}-(3), (d)-(iii)
86435116571, @) (iid), (b)-(1), (c)-(iv), (d)-(ii)

s6435116572. 2y (i) (B)-(1v), (c)-(), (d)-(iii)

Question Number : 34 Question Id : 8643515524 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The ionic radius of Na* ion is 1.02 A. The ionic radii (in A) of Mg2* and AP *, respectively,
are :
Options :
86435116573, -85 and 0.99

86435116574, 072 and 0.54

86435116575, 0-08 and 0.72

86435116576, 102 and 0.99

Question Number : 34 Question Id : 8643515524 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

Na* meewoemleo@ @eewoerlse e@@eo 1.02 A @perw. Mg?', AP' saiwies

(A @ 988) @rawIeld: EDOEBR WLNd@®hAO :
Options :

86435116573, 085, 0.99 agomial

86435116574, 072 0.54 agyilal

86435116575, 0-68, 0.72 ag)crilal

86435116576, 10 0.99 agynilal

Question Number : 35 Question Id : 8643515525 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The chemical that is added to reduce the melting point of the reaction mixture during the
extraction of aluminium is :

Options :
86435116577, bauxite

86435116578, Laolite

86435116579, Alamine

86435116580, —rYolite

Question Number : 35 Question Id : 8643515525 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
@eeldlolwe ecudalldenim (all»leald, eomaudemm dlwloeson onleaalal

(en@dglotd Calo@l) &hl0ea0m @RMIcRlss) . oldH6iMM dOTLELMI®) :
Options :

86435116577, SERERENTDH

86435116578, EEANBELH
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86435116579, “esodlad

(HEWOeNRIG
86435116580.

Question Number : 36 Question Id : 8643515526 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two Statements : One is labelled as Assertion A and the other is labelled as

Reason R :

Assertion A :  During the boiling of water having temporary hardness, Mg(HCO,), is
converted to MgCO,;.

Reason R : The solubility product of Mg(OH), is greater than that of MgCO,.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

86435116581, Poth A and R are true and R is the correct explanation of A

86435116582, both A and R are true but R is NOT the correct explanation of A
86435116583, A is true but R is false

6435116584, A 1s false but R is true

Question Number : 36 Question Id : 8643515526 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6ME (MmO UMD ey mMildlenimm). enilem &otjo A ag)Mie AOFINTIOM &honemo

R ag)Mjo @os@ogsa|seslaidlesiom)

oMo A 1 ®IBBIElBHDOW HoClmio §88 @elo (hardness) allgwaaiemuotd Mg(HCO;), ,
MgCO; @@ @0y,

#006mo R : Mg(OH), e emvoeyenilelidl elatowes MgCO, a@endid & iSimeloe.

D)HEl@ HISIOM (o MVBOIUMBRLOS U]l al@mad, 6P 6d:0S )M dlelm

80alaMdEld odlor appule oalleni pomeo @06 eTmS)Hed:.
Options :
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86435116581 A @Jo R 9o vodl@osm, A wies wdlwow aflvedlensmacsn’ R

8643511658, A @0 R 9o wdlooem, A @ies rdoow alledlaremag R

86435116583, - A0, oM@ R H®R06M

86435116584, 1+ ©@GEM; ag)mmoad R vodlaoen

Question Number : 37 Question Id : 8643515527 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List- 11
(a) Ca(OCl), (i) Antacid
1 g
(b)y CasO, - EH?—D (ii) Cement
(c) CaO (iii) Bleach
(d) CaCO, (iv) Plaster of Paris

Choose the most appropriate answer from the options given below :
Options :
26435116585, (@F 1), B)-(iv), (e)-(iii), (d)-(ii)

26435116586, (@)L, (b)-(i1), (c)~(i), (d)-(iv)
86435116587, (@)-(iil), (b)-(ii), (c)-(iv), (d)-(i)

86435116588, (@) (L), (b)-(iv), (c)-(ii), (d)-(i)

Question Number : 37 Question Id : 8643515527 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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alglds - I, alglés - 11 80U aldjoals] Gaoldee s

alglds - 1 alglds - 11
(a) Ca(OCl), (i) @oqpomslous
(b) CaSO, --%}{53 (i) o
() CaO (i) epflaf
(d) CaCO, (iv) gJoand edad alodlmy
®060Y OBHISOWIBlENIM™ Safamidbeld olom’ agpaile 9ollmmow gEmEo
@ OOETIN S)B6) ) cbs.
Options :

sea351165gs. (@-0), B)-v), (©-(ii), (d)-(i)
cea3s11esse. (@-(id), (B)-(ii), (©)-(0), (d)-(iv)
86435116587, @), (B)-(ii), (©)-(iv), (d)(0)

86435116588, (@) (L), (b)-(iv), (c)-(ii), (d)-(i)

Question Number : 38 Question Id : 8643515528 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of ionisable hydrogens present in the product obtained from a reaction of
phosphorus trichloride and phosphonic acid is :
Options :

86435116589. 1

86435116590, 2

86435116591. 0

86435116592,

Question Number : 38 Question Id : 8643515528 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Gan0MianOM HSEGHINHOMI0, EaddMIEandeMld: @RMIo (alald@vil.ollensddniom
OTaIMEHIAD o) @eOWENo ERERIEMIBAENILIT HOADWERMEHUD Sens’ ?

Options :

86435116589, |

86435116590, 2

86435116591. 0

86435116592,

Question Number : 39 Question Id : 8643515529 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List- 1 List - 11
(a) Chlorophyll (i)  Ruthenium
(b) Vitamin - B, (ii) Platinum
() Anticancer drug (iii) Cobalt
(d) Grubbs catalyst (iv) Magnesium

Choose the most appropriate answer from the options given below :
Options :
86435116593. {a]-{ﬁij, {b]-{ii], {C]'{i‘-’]r {d]-{i]

se435116504 @-(0V), (D)), ©)-(), (d)-0)
se435116505. (@-(V), (D)(i), (©)-(ii), (d)-()

86435116596. (@)(iv), (b)-(iit), (c)-(1), (d)-(ii)

Question Number : 39 Question Id : 8643515529 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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algld - 1, algld - 11 0 GaldjonlS] Caldde)d

alSldh - 1 algldés - 11
(a) eghoeOoadldd i) oo
(b) allgodiad - B, (i) gdoglme
(c) @o@laoadmd ooy (ii) OB
(d) (enim emielalddao (iv) @urlayio
MY OHISIOTIAIENIM Salamiseldd olm appalle foll@mow §EMEo
@ OOETN S b6 cbo.
Options :

26435116593 (@)-(Hi), (b)-(ii), (c)-(iv), (d)-(i)
26435116594, (@) (1¥), (b)-(iii), (c)-(i1), (d)-(i)
26435116595, (@) (), (b)-(i1), (c)-(ii), (d)-(1)

86435116596, (@)-(1v), (b)-(it), (c)-(1), (d)-(ii)

Question Number : 40 Question Id : 8643515530 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The correct structures of trans-[NiBr,(PPh,), | and meridonial-[Co(NH,),(NO,),], respectively,

are :
Options :
Ph,I? \ / Br | / NH;
86435116597.

Pth\ /Br 2 NO,
\I
/ p—_— T o’ i N\,

NH,
86435116598.
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86435116599.

PhyP \ / Br
/ \PI‘h

P]:.'IEP \ / Br

d
Phy P/ \Br = Dz”/r!JH\ b

86435116600.

Question Number : 40 Question Id : 8643515530 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks :

4 Wrong Marks : 1

3

(sodmi-[NiBr,(PPh,),], eadlaufl@momd-[Co(NH;),(NO,);] agmilcu@ies @unodma aaism,

@LOO| Do :
Options :

86435116597.

thP \ / Br
/ \ IJ IJ‘h3

86435116598.

86435116599.

PhP \ / Br
Ph,P / \ Br

PhyP \ / Br
/ \PI‘h

NH,
H;N TDZ NO,
/TN
I—I3N NH; NO,
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P]:.'IEP \ / Br
Ni 4
an
I}hap / \Er DZN/ I'!H‘I\NDE

86435116600. 3

Question Number : 41 Question Id : 8643515531 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The statements that are TRUE :

(A) methane leads to both global warming and photochemical smog,
(B) methane is generated from paddy fields

(C) methane is a stronger global warming gas than CO,

(D) methane is a part of reducing smog,.

Choose the most appropriate answer from the options given below :
Options :
86435116601, (4) and (B) only

86435116602, (A) (B), (C) only

86435116603, (B) (©), (D) only

86435116604, (A (B), (D) only

Question Number : 41 Question Id : 8643515531 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AWOID [IMIOUMBUD afy® ?

(A) @EDEMI MIIMATIMo, CnndeS0a®Alen® micnouiimie dlerwind &omemaoniinm).
(B) emaruwepsaldd oo alewnwitd eensonuymm).

(C) CO, emenid emileedi EPENIE Moalm IMEmem dleLnaii.

(D) aflerodmikeodlwom mieamouilen &) @wadem dleLowind.

®060Y¥ 6Odosjomldlenimm aafadmidkgldd olom agpule oll®oo® ormeo
@ OETIN S)B6) )b
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Options :
86435116601, ) @io (B) @go @o(®o

86435116602, (22 (B), (C) @O@o

86435116603, B), (C), (D) moimo

26435116604, (&) (B), (D) @o(@o

Question Number : 42 Question Id : 8643515532 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Compound with molecular formula C;H O can show :
Options :

86435116605. Positional isomerism

86435116606, Functional group isomerism

86435116607. Metamerism

86435116608. Both positinnal isomerism and metamerism

Question Number : 42 Question Id : 8643515532 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
CyH O ag)™m ®mo@moniod|mies Mo@idmo dh0emlenimm eag)emoeadimo :
Options :

86435116605, ©-oMlattn@ Oagemoendimo

aNeEaHema@d (0 S MEIIemcimo
86435116606. Dl ©ag)

s6435116607. P2APORAIMO

86435116608, oM@ Hagiemosadinaye sagoeadimale
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Question Number : 43 Question Id : 8643515533 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List - I with List - 11 :

List - 1 List - 11
(Chemicals) (Use/Preparation/ Constituent)
(a) Alcoholic potassium hydroxide (i) electrodes in batteries
(b) Pd/BaSO, (ii) obtained by addition reaction
(c) BHC (Benzene hexachloride) (iii) used for p-elimination reaction
(d) Polyacetylene (iv) Lindlar’s Catalyst

Choose the most appropriate match :
Options :
86435116600, (@) (D)-(1), (c)-(iv), (d)-(iii)

26435116610, @)-(iiL), (b)-(1), (c)-(iv), (d)-(ii)
86435116611, @)-(11), (b)-(iv), (c)-(0), (d)-(iii)

26435116612, @) (iD), (b)~(iv), (c)-(ii), (d)-(i)

Question Number : 43 Question Id : 8643515533 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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algldh - 1, alglds - 11 800U Gaim)oalS] G.aldde))d:

alglds - 1 alglss - 11
(O rOCLINI @) B UD) (®ale@otio/eNRoea M @i/
B2l L (D)
(a) EP@LOENElH HaldZomYjo (i) euopdlaslanc geldhasonow
£6)00E IO Ich B (NUOLY
(b) Pd/BaSO, (i) @eladmd (cudemme cusl

(c) BHC (eenummiid eandariegianann) (i) p-ogeladlemanad
(o cud@mmEmim) eouendl
o lewouleim).
(d) calodl@memeageeeaiad (iv) ell@elows omealddso
afRlc 9allmmw calda) alEETNS|HEid::

Options :
86435116600, (@)1, (B)-(1), (¢)-(iv), (d)-(ii)

26435116610, (@)-(iiL), (b)-(1), (c)-(iv), (d)-(ii)
86435116611, @)»(i), (b)~(iv), (c)-(1), (d)-(iii)

26435116612, (@)(i1), (b)-(iv), (c)-(ii), (d)-(i)

Question Number : 44 Question Id : 8643515534 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Reaction of Grignard reagent, C;H:MgBr with C;HgO followed by hydrolysis gives compound
“A” which reacts instantly with Lucas reagent to give compound B, C,3H;;CL

The Compound B is :
Options :
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CH,

b

86435116613.

CH,

3

86435116614.

Cl CH;

CH,4

pe

86435116615.

CHj

CHj,

s

86435116616.

Question Number : 44 Question Id : 8643515534 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
C,H:MgBr agmm (luimodal’ olewed C,H,O @mod (acudeslai@lon eisdon

eeanewaalmiimiimie allewwa@eapdd MowsMo “A” paowl. “A” gsem e
2800 Olag)Ra C,H,;Cl 200 (wicid ol 2feqjodd mowisMmo “B” ©ensoalmy.
MoWemo “B” @em :

Options :
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86435116613.
Q/CLI
86435116614.
Cl CH;
86435116615.
CHj
5
CH,
86435116616.

Question Number : 45 Question Id : 8643515535 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

C=N
COOH
H,O H,O
= ] & _lu"‘a. i ]
H H*2A
(Major Product)

Consider the above chemical reaction and idr:-ntf_f}-' pmduct A"

Options :
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CH,NH,

86435116617.

CONH,

86435116618.

I
C=N-OH

QY

86435116619.

CH,NO,

&

86435116620.

Question Number : 45 Question Id : 8643515535 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

C=N
COOH
H,O " H,O
] Iy A
H* HT,A
(ladWom B@Walmo)

D) El T B)HISIEM (alUDEMMo al@lemlajetontio “A” af)M O@alMo afe® M

&b 6)6TTS (TTD) Jcbb.
Options :
CH,NH,

86435116617.
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CONH,

86435116618
§
C=N-OH
86435116619,
CH,NO,
86435116620,

Question Number : 46 Question Id : 8643515536 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
H;

Alkaline K]'vInD4 B
H FE -

X.ﬂf

OCH;

Considering the above chemical reaction, identify the product “X" :
Options :
CH,OH

86435116621. OCH,
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COOH

X -
86435116622. S
CHO
X
OCH;
86435116623, ~
CH;
X -
OH
86435116624,

Question Number : 46 Question Id : 8643515536 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Hj

Alkaline KMnO n
H

} i X!.I‘

OCHj,

D6lad 605} MOMVIUdEmMo aldlteml ajetdntio H@IMMDMO® “X” @Ildlayclwid

Options :
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CH,OH

){_
86435116621. OCH,
COOH
)(_
86435116622. OCH;,
CHO
_}{_
OCH,
86435116623. 3
CH,
X -
OH
86435116624

Question Number : 47 Question Id : 8643515537 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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H,C CH,
H;

NaNOQ,, HCI

> “ x" » i Y.ﬂ.‘
273K -278K (Major Product) (Major Product)

Considering the above reaction, X and Y respectively are :

Options :
+ —
2l QPJ’/A<;2>
A~ CHs
CH,
86435116625.
and ( j N
[::f::} P
86435116626. Chs
N3 Cl™ };113
and \
CH,
86435116627
Cl CH,4
CH;
86435116628.

Question Number : 47 Question Id : 8643515537 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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H;C CH
3 \‘I\'/ 3
[H,
NaNO,, HCI
} £ KJ’! } JIY!J
273K — 278K
(ladwom ©@almmo) (W B@almMo)

D610 S BISIEM (udmmmo aldlmendlal X, Y agomlo @Lnodhmo

Options :
N5 Cl™ Nsn
CH
O L O IR re—
86435116625. CH,
: N ag)Milcumoen’
HU K,
86435116626. CHg
N3 Cl~ XCH;&
1 orlouoem
86435116627.
Cl CH,

No < > N<
P oilcuoem
86435116628.

Question Number : 48 Question Id : 8643515538 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List - I with List - 11 :
List - 1 List - 11
(Class of Drug) (Example)
(a) Antacid (
(b) Artificial Sweetener (ii) Cimetidine
(c) Antifertility (iil) Valium
(d) Tranquilizers (iv) Alitame

i) Nowvestrol

Choose the most appropriate match :
Options :
86435116629, @) (1), (B)-(iv), ()-(ii), (d)-(i)

86435116630, @(i), (b)-(iv), (c)-(1), (d)-(iii)
26435116631, @), (b)=(1), (c)-(ii), (d)-(iii)

86435116632, (@) (1v), (b)-(iii), (c)-(i), (d)-(ii)

Question Number : 48 Question Id : 8643515538 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
algles - 1, algld - 11 encl ealdjoals] Calddaeid

algld - 1 algld - 11
(@oymilen aidgo) (©B0anMmEMo)
(a) @eARoMIo (i) emoscumMieiSoud
(b) @@l mllgmd (i) miloaglalld
() @@ eandgleld (iii) cuoellwo
(d) (somdafleesimO)etd (iv) @meeleso

a@AUle o2llmmow @loeemms 18e jdbs.
Options :
26435116629, @) (L), (b)-(iv), (c)-(iii), (d)-(1)

86435116630, @ (i), (P)~(iv), ()-(1), (d)-(iii)
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86435116631, (@ ({IV), (b)-(1), (c)-(), (d)-(ii)

86435116632, @)k (1v), (b)-(iil), (c)-(1), (d)-(ii)

Question Number : 49 Question Id : 8643515539 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A non-reducing sugar “A” hydrolyses to give two reducing mono saccharides. Sugar A is:

Options :
86435116633, Glucose

86435116634, Fructose
86435116635, Galactose

86435116636, Sucrose

Question Number : 49 Question Id : 8643515539 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

“A” agom e} rilersmile:itlwgomm auind (alemiqon) §6aneLINRIM 6.0l
(leodmile:0dlHa00 MeNE CMIEEMI MOENNNOMIBUD BIEIEOIM. A )M alId on® ?
Options :

86435116633, $38ELHM

86435116634, AOMESITV

86435116635. (POBIEESOM

86435116636, T 4CEHOM

Question Number : 50 Question Id : 8643515540 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Reagent, 1-naphthylamine and sulphanilic acid in acetic acid is used for the detection of :
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Options :

86435116637, V2

86435116638, |3

86435116639, NO

¢

86435116640. =

Question Number : 50 Question Id : 8643515540 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@e ks epmialldd 1-moadeemad erdld, mudansorialls @pmilul ag le@emdadd,

a@ilom allelaldlewond ealewoudlenimm) ?
Options :

86435116637, V2

86435116638, |3

86435116639, NO

2

86435116640.

Chemistry Section B
Section Id : 864351370
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351370

Question Shuffling Allowed : Yes

58/93



3/18/2021
Question Number : 51 Question Id : 8643515541 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

C f}mplete combustion of 3 g of ethane gives x X 102 molecules of water. The value of x is

. (Round off to the Nearest Integer).
Use : N, =6.023 x 10%3; Atomic masses inu:C:120:0:16.0; H: 1.0
A

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 8643515541 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

3 g e00eL0@M alidemeieimamila) allewwacel Kelierian x x 1072 @ao(@dnUd ®oiom). x
o alflel @6,
(6®0gS1OM™ al)Be) MoEWODEidh)

(N, =6.023x 105, mmrsgam’l.ﬁa @y u Qflad : C:12.0;0:16.0; H: 1.0)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 52 Question Id : 8643515542 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

AX is a covalent diatomic molecule where A and X are second row elements of periodic
table. Based on Molecular orbital theory, the bond order of AX is 25. The total number of
electrons in AX is . (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 52 Question Id : 8643515542 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

allde@ocils esenfldloal A, X ag)nTil cenzoae®m® dlodieal mjelsemud &iSle.ajdmmosmy
AX o) ed:00U0aI) @@ Bjwicqodls mmmom. caodlayend edmlga alodlwes
@oslcunomeml@d AX e ceuoes eodabd 2.5 @pem. A, X 288 @6
D EIHBISOMIMAIOS ag)emo @M. (HMIFSIOD ajBENIVOE@ONE i)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643515543 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For the reaction
GH, - GH, +H,
the reaction enthalpy A H= k] mol . (Round off to the Nearest Integer).
|Given : Bond enthalpies in k] mol 1.C—-C:347. C=C:611;
C—H: 414, H—H : 436]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643515543 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

CH, - CH,+H, agm icud@amadleon dloodud agidwoaall A H=
k] mol

(6®OgSIEM al)DEMNMoEL) OB dh)

(eeruoene’ ag)doodalledd maridlenimy, (k] mol ! @)

C-C:347, C=C:61; C—-H: 414, H-H : 436)
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643515544 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
2 molal solution of a weak acid HA has a freezing point of 3.885°C. The degree of dissociation
of this acid is %1073 (Round off to the Nearest Integer).

[Given : Molal depression constant of water =1.85 K kg mol !

Freezing point of pure water =0"C]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643515544 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

8o} cdeniel @amiwom HA @ies 2 emogdm sowailees pdlmilowd ealowad 3.885°C
@en. 0 epriluflan el eoan” allequomile@a@ (allcaislenimailon @esal)

x 1077 @oem’
(zeimilon emogom allialautd cudleosmo=1.85 K kg mol ~! wjavzeicmilen (adimilowd
Galo@@=0"C)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 55 Question Id : 8643515545 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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In order to prepare a buffer solution of pH 5.74, sodium acetate is added to acetic acid. If the
concentration of acelic acid in the buffer is 1.0 M, the concentration of sodium acetate in the
buffer is M. (Round off to the Nearest Integer).

[Given : pKa (acetic acid)=4.74]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643515545 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

pH5.74 988 &0} fiand elo@] ®QPROEa MM @omugle: @amilaullcalss) eruoawe
@pmend ealdom). 9 cmiandla araugld @miadlen wouem 1.0 M epeemssslad,

enailales ervorllo @RIERHEINN KoM M @men).
(©®OZSIOD aljBENAVOEL) OB )

(@omugle @pmicullen pKa=4.74)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643515546 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For the reaction
2Fe®* (aq) + 21~ (aq) — 2Fe?* (aq) + L,(s)
the magnitude of the standard molar free energy change,

[+

AGy, =—___ k] (Round off to the Nearest Integer).
B pe2tpeg) = ~ QMO VB paspy= — 0036V
E/p- = 0539V;  F=96500C
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 56 Question Id : 8643515546 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2Fe’ *(aq) + 21~ (aq) — 2Fe?* (aq) + L,(s) agym lcudemmaedia, guomdeandal’ enogod (ad)

agmd el ecilenllon eraal 'AT{_;:” = - k] moofdlenio. (OMOISS)ED

mgﬁammoﬁ}g@amg@j
E°pe2t jpers) = — 0440V Ep v pg= — 0036V
B jop= = 0539V ; F = 96500 C

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643515547 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 NO(g) +Cly(g) = 2 NOCI(s)

This reaction was studied at — 10°C and the following data was obtained

run [NOJ, [CL ], I,
1 0.10 0.10 0.18
2 0.10 0.20 0.35
3 0.20 0.20 1.40

[NOJ, and [CL,], are the initial concentrations and 1, is the initial reaction rate.

The overall order of the reaction is . (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 57 Question Id : 8643515547 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2 NO(g) + Cly(g) = 2 NOCI(s)
07 (alaud@mmo — 10°C @ alomallewmssiwea pid o6y alOWIMM ey (BOMEIBG )

elélal).

run [NOJ, [CL,], rg
1 0.10 0.10 0.18
2 0.10 0.20 0.35
3 0.20 0.20 1.40

[NOJ,, [CL ], egmilad (alo®o@ (ouemm@)oe, 1, af)Mm® @Doe aloud@mmailedseimoens.
N (aud@mmETien) @oed: eodud @ 6.

BIOAESG) mgﬁ:%ﬂvoﬁ%@ﬂﬂmé&)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643515548 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The total number of unpaired electrons present in the complex K;[Cr(oxalate),] is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643515548 Question Type : SA
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Correct Marks : 4 Wrong Marks : 0
K;[Cr(@osmealid),;] agm Gdhdogdsmilees @pendealemdal e0eldhE(S06miealns

e

(GROSIQOBHIMT EDRIHE(SIEMHBINS) @VOH ag)§No @RDEI).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643515549 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
grams of 3-Hydroxy propanal (MW =74) must be dehydrated to produce 7.8 g
of acrolein (MW =56) (C;H,0O) if the percentage yield is 64. (Round off to the Nearest
Integer).

[Given : Atomic masses : C:12.0u, H:1.0 u, O :16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643515549 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

calvmemz aldal (vmmom eIgi®) 64 @eemEslT, (700 3-66NEIU ML
Olaloa|mo@ (MW =74) mldzxellHnemo mseoml@oeloen’ 7.8 g @oemoelldd (C;H,O0)
(MW =56) ©6n208600b db¥lw)d:.

(6®O3SO® alidem) MVoELWISE . )

[ @oegodids @momy: C:12.0u, H: 1.0 u, O:16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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100

Question Number : 60 Question Id : 8643515550 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A reaction of 0.1 mole of Benzg,-'lamj_tm with bromomethane gave 23 g of BEI'LZ}-'I trimeﬂ‘u}-'l
ammonium bromide. The number of moles of bromomethane consumed in this reaction are

nx 10”1, when n= . (Round off to the Nearest Integer).

[Given : Atomic masses : C: 120 u, H: 1.0 u, N : 14.0 u, Br : 80.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643515550 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

0.1 caotd esumdesma mealm, eeuoecaoalenwmimoe (wudewlal 23 (oo
eenLmdeam @ a6s dieaLnd epeasemiwe GENINaaMA HENB0:IM). 60 (alcud@mm il d
faleaddlanimm elgniocaddieln@on cmig)dHales agepno nx 10~ 1 apesmsl@,

n=

(6®OZSIE® al)BENMVoEWIBEIdb.)
[mmg:rﬂﬂﬁ: @y : C:120u, H: 1.0u, N: 14.0 u, Br : 80.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A
Section Id : 864351371
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
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Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351371
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 8643515551 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the functions are defined as f(x)= Jx and g(x) = 41 — x, then what is the common

domain of the following functions : f+g, f—g f/g. g/f g—f where

(f + 9)x) =f(x) = g, (f/8)x) = %
Options :

86435116651, 0 =¥ <1
86435116652, 0 <x <1

86435116653.

86435116654, V<x =1

Question Number : 61 Question Id : 8643515551 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

f(x)=Vx, g(x)=v1 -z agamlememn anedaumidnid aldcallafldlenion). ag s,

f+8 f~8 f/g 8/f g—f (@@ldd (f + g)(x)=f(x)=*gk), (f/g)x) = ;—EJ agmlai@es

6)al0mCLI0W meMbelo o ?
Options :
86435116651, 0 =¥ <1
86435116652, 0 <x <1
86435116653, 0 =¥ =1
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86435116654, 0 <x =1

Question Number : 62 Question Id : 8643515552 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If the equation a|z 2 @z +az+d=0 represents a circle where a, d are real constants,

then which of the £ f:rllnwf_ng condition is correct ?

Options :

B e
6435116655, (@~ ~ad = 0andae R
86435116656, |/ —2d >0and acR—{0]

v =
86435116657, (@~ — ad=0

PR i b
86435116658, *=0,a deR

Question Number : 62 Question Id : 8643515552 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

alz? + @z + az + d = 00f)(m MOUIRo B0} AUEDe ™ nlafllriluladlenim). aoaldd,
a, d oo enale qudlomcslj@oen) ag@lad, @oaY edhosiomldleniMmauala wdlwowe

AWRp® ?
Options :

2 : - -
86435116655, (@~ —ad =0,aeR

(2 - ;
86435116656. o r.qiL:[ - [.:I , o € [{ '{UI‘

2 —
86435116657, |«~ — ad=0

PRt ; b
86435116658, =0, a deR

Question Number : 63 Question Id : 8643515553 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1
| 0
3| and 2A-B =
1 (

let A+2B= If Tr(A) denotes the sum of all

oo =
w w3 bk

| N
R = ) |

—
[

diagonal elements of the matrix A, then Tr(A) — Tr(B) has value equal to :
Options :
86435116659. 1

86435116660, 2

86435116661, 3

86435116662 1

Question Number : 63 Question Id : 8643515553 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1 .

)
A+2B=| 6 -3 3|, 2A-B= . ag)orilou@odhinm).
5 3

| S
(=
O N

Tr(A) oM@ A ag)mm eaSlemilan W@MeMEd @PoABRINS MidWIneMeEsIEd,
Tr(A) - Tr(B) agyomailen mjelo :

Options :

86435116659, 1

86435116660, 2
86435116661, 3

86435116662 ©

Question Number : 64 Question Id : 8643515554 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Let o, 3, v be the real roots of the equation, ¥ +axZ+bx+ec=0, (a, bbce Rand a,b=0). If
the system of equations (in u, v, w) given by au+pv+yw=0; pu+yv+aw=0;

.az
v + ov + Bw =0 has non-trivial solution, then the value of o is :
Options :

86435116663, °

86435116664, 1

86435116665. 3

86435116666. 2

Question Number : 64 Question Id : 8643515554 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
x?+ax2+bx+c=0,(a, b, c e R, a, b z0) agom qmuaciodmmien Sl olgmimaen o B,

y ag)milal. au + o +yw=0; Bu+yv+oaw=0; yu+oav+ pw=0 ag)om] OO EEBDHE)

e
(u, v, w - @) emoend-Sloflead aidlanonmoem Hagae el o, % agmalen melo :
Options :

86435116663. 0

86435116664, 1

86435116665.

86435116666 2

Question Number : 65 Question Id : 8643515555 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The sum of all the 4-digit distinct numbers that can be formed with the digits 1, 2, 2 and 3
is :

Options :

86435116667, 22264
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86435116668, 26664

86435116669, 12242

86435116670, 122664

Question Number : 65 Question Id : 8643515555 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1, 2,2, 3 agym] @reeemBcd Salewouilal ojaflle:dlencam almymio 4 @odae Moadhalens
@) af)Mm@ :
Options :

86435116667, 22264

86435116668, 26064

86435116669, 122234

86435116670, 122664

Question Number : 66 Question Id : 8643515556 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let (1+x+2x%)0=a,+a,x+ax?+...+a,x!0. Then, a,+a;+a; +.... Fa,- is equal to :
Options :
jl‘){j.?{] | -j]_]
86435116671. = '~ =
AX) ~20 4 »
86435116672, 2 (&~ +21)
21‘3{22{] 21]
86435116673.
23]{22{] 21]
86435116674,

Question Number : 66 Question Id : 8643515556 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

(1+x+2x) P =ay+a,x+aox?+.... + ayx 0 @ODHIMY. ag@I@, a; +ay +ag +..... Fagy
af)m@ :
Options :
86435116671, 2 (27 +21)
o

86435116672, 2 (27 +21)

21‘3{22{] 21]
86435116673,

23]{22{] 21]
86435116674

Question Number : 67 Question Id : 8643515557 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of 3 1 is equal to :
4 4 i
3 4 ]
4 4
1 x
Options :
=

86435116675, 1> T V3

: =
86435116676, 2+ V3

3+ 243

86435116677. -

86435116678, 4 + 3

Question Number : 67 Question Id : 8643515557 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

86435116675.
2

86435116676.

86435116677. -

86435116678, 4+ V3

Question Number : 68 Question Id : 8643515558 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

agmailen mjelo :

Correct Marks : 4 Wrong Marks : 1

1 1 1
I I

321 52-1 72
Options :
25

01

ot

86435116679.

101
86435116680, *08
o
86435116681, 00

10

86435116682, 04

Question Number : 68 Question Id : 8643515558 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

1

Correct Marks : 4 Wrong Marks : 1

...... | pr—, Y ag)maila) @ielmoma

is equal to:
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Options :
25

86435116679, 101

101

86435116680, *08

99

86435116681, 100

101

86435116682, 104

Question Number : 69 Question Id : 8643515559 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If a, B are natural numbers such that 100%—1993 = (100)(100) + (99)(101) + (98)(102) 4
..... t(1)(199), then the slope of the line passing through («, 3) and origin is :
Options :

86435116683, 210

86435116684, 230
86435116685, 240

86435116686. 220

Question Number : 69 Question Id : 8643515559 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1002 — 1994 = (100)(100) + (99)(101) + (98)(102) + ..... H(1)(199) agmMafl@d o, B 0t ag)ep@

MVoE|HR06M. ag)@sl@d, (o, B) agmaieeswio @puooeniosialleleasmio &S] Galddhim

COELWOS aldlal agrme) :
Options :
86435116683, 210

86435116684, 230
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86435116685, 240

86435116686, 220

Question Number : 70 Question Id : 8643515560 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
[ 1
e lxl =1
If f(x)=41% is differentiable at every point of the domain, then the values of

v
jax” +by x)<1

aand b are respecfivel}-' :

Options :

11
86435116687, > >

I
[ ]

86435116688, 2

M|
[ ]

86435116689.

2| w3

1
86435116690, 2

Question Number : 70 Question Id : 8643515560 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2 2 jx] =1
f(x)=3lx oM anecadad asmbeowlea agelo  enflmyafleljo
taxz b |x|<1
dhenglmyiaiale WlanomadienliaimoeT. ag)@lad, @LOo@Mmo a, b agimioiwies mje)smRb:
Options :

3 3
86435116687. 4 -
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I
[ Q]

86435116688, 2

Rt
| 2

86435116689.

er—-a'
ra | L

86435116690.

Question Number : 71 Question Id : 8643515561 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

cosec Ix

The real valued function f(x) = ﬁ, where [x] denotes the greatest integer less than or
x - |x

equal to x, is defined for all x belonging to :

Options :

26435116691 all reals except integers

26435116692, all reals except the interval [ -1, 1]

6435116693 all non-integers except the interval [ 1, 1]

26435116604, A1 Integers except 0, —1,1

Question Number : 71 Question Id : 8643515561 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

cosec lx

f(x) = ﬁ agm dload aelyal anedaumd aldalallafldlenim x H816S wemo
VE—IX

ag)m@, ([x] agoM@ x -eMIS MElEEO ERMIG HIOMME®O EP® HWDM aljden

(Mo 6Ly@O6M)

Options :

c64351 16601 CAbEM MoAUBD DBOSIED BF eoallw Moslwdd
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cea3siiego. | 1o 1l egom mseagwic edegisoem coallw mos)dod

86435116693, [~ 1, 1] agomn gnsecusaiad Qo%mgjeamm mgﬁasmmoﬁuﬁao’b @OL|OEBL

0, 1,1 6N @RI BOALIO aliBEm OB >
86435116694, 2% & REI0 aljPenmoa gl

Question Number : 72 Question Id : 8643515562 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
. —1 -1
im SiIn x—tan "x _
iﬂ i 3 is equal to L, then the value of (6L + 1) is :
X

If

Options :
1
86435116695. ©

86435116696. ©

86435116697 2

N||-—i.

86435116698.

Question Number : 72 Question Id : 8643515562 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. =1 -1
lim Sin ~ x — tan

x—=0 3

- z agymailod melmoeny L, agy@lad, (6L+ 1) agymaiien mjelo :
3x

Options :

-

86435116695.

86435116696. ©

86435116697 2

M||-—i.

86435116698.
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Question Number : 73 Question Id : 8643515563 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

I(zx 1)cosy(2x —1)* +5

f

The integral
Vix® — 4x + 6

dx is equal to:

(where ¢ is a constant of integration)

Options :

1
;sin\/{h I 1)2 D + ¢
86435116699. <

3
—51'_11\([(23: 1]2 ED te
86435116700, 2

'1 i
—C0s4/(2x 'l]E ot ol
86435116701, 2

A
4

1
—cosﬁf{lx 1) +B ¥ ¢
86435116702, 2

Question Number : 73 Question Id : 8643515563 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[ 2

I(ZJ: 1)eesf(2Zx — 1) + 5
Vax? — 4x + 6

dx agm eomwellemos mieymowa :

(c agmnm eoMeliatand mudemoal@osn)

Options :

1
;sin\/(b: I 1]|‘2 D + ¢
86435116699. <

1
—sﬁ‘u\f[(Ex 'l)z 28 i o
86435116700.

'1 f
—cos4/(2x 'l]E Fo+
86435116701, 2
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1
—cosﬁf{h I 1]2 F5 +¢
86435116702, 2

Question Number : 74 Question Id : 8643515564 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The differential equation satisfied by the system of parabolas y>=4a(x + a) is :

Options :
2
F[d_ﬂ 'h(d—ﬂ y=0
86435116703, \dx) L dx )
F{d—ﬂ 'zx{d—ﬂ y=0
86435116704, ¥/ \dx )
dy )2 d
EREEEIREAY
86435116705. ) dx
. :
3’[_‘1@ 2x( 2] -y =0
86435116706, " 9X/ L dx )

Question Number : 74 Question Id : 8643515564 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

y2=4a(x +a) ag)m alDOCENOSHWRHE) B WlanOMaU|@ TOACUIS DO :

Options :
2
F[d_ﬂ ' h{d—ﬂ y=0
86435116703, \dx) L dx )
y{d—yw | Ex{d_yw Y= 0
86435116704, - 9¥/ \dx )

g
86435116705.

79/93



3/18/2021

o -2(2) -

86435116706.

Question Number : 75 Question Id : 8643515565 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the correct statement about two circles whose equations are given below :
x2+y?-10x— 10y +41=0

x2+y?—22x— 10y +137=0

Options :

86435116707 circles have two meeting points

86435116708. circles have no meeting point

26435116709, circles have DIII}-‘ one meeting point

86435116710. circles have same cenlre

Question Number : 75 Question Id : 8643515565 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
MY EIBISIEWBlH6IMN MENS (U YODETRRIOS TVMCUIO|ETRUWDSE DAWO® (aIMI®IOIM
@ OOV SLH6) Jcb>:
x2+y2-10x—10y+41=0
x2+y?—22x— 10y +137=0
Options :
ujemenecd meng endlra)soslad & m
86435116707 -9 J008 iSlayse™y

26435116705, CLATDEBRD dhslmigiom enflos mpy

26435116700, (NODEIER Beoo®Or) miazalld &Sleigimy

QU ODETRDHE) BEMD CLYOIT B (3D
86435116710.
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Question Number : 76 Question Id : 8643515566 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
For the four circles M, N, O and P, following four equations are given :

Circle M : x>+ %=1

Circle N : 1%+ yz 2x=0

Circle O : 22 +y?2—2x—2y+1=0

Circle P : x% +y%—2y=0

If the centre of circle M is joined with centre of the circle N, further centre of circle N is joined

with centre of the circle O, centre of circle O is joined with the centre of circle P and lastly,

centre of circle P is joined with centre of circle M, then these lines form the sides of a :

Options :

86435116711, Rectangle

86435116712, Rhombus

86435116713, ~duare

86435116714, | arallelogram

Question Number : 76 Question Id : 8643515566 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
M, N, O, P, agyoml moel aly@memsidas), moel qumads|6tBud @oey 6dh:0S)ariltleninmy.

Uy@®o M : x2+y2=1

auyE®o N : x2+y2—2x=0

cauyomo O : x2+y2—2x—2y+1=0

auyomo P : x2+y2—2y=0

M ag)im aljEmaEmen emEe N -agim AjEm@dan edh(30Umoe] ewozlallean)dmmw)io
N ag)m AyEemeElend (3o O ag)m AEBEIONR (3000wl cwogdla leaimhwio O
ag)0mn AUYEDETOR (30 P agm aljemadien edm3aynow cwolallen)dHmio
@ealmommoel, P agmm ayememle esiBe M ag)m aujem@slon eds3alimonl
colaflenbWio 6 2Imoad, 00 CRaISM AUMEBEIW UM :

Options :

86435116711, ~H@d00
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86435116712, ToRalodUDjElomMIdho

86435116713, TVD-I®iDO

86435116714, TR0

Question Number : 77 Question Id : 8643515567 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of integral values of m so that the abscissa of point of intersection of lines
3x+4y=9 and y=mx +1 is also an integer, is :

Options :
86435116715.

86435116716, 1

86435116717.

86435116718, 3

Question Number : 77 Question Id : 8643515567 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
3x+4y=9, y=mx+1 ag)mm] coeumHRD &HiSlmigim edlozialle qloldmoaljwies

x-02ISdho B0} alldenmoal) @esmEI@, ‘m’ 0 MIWmI® M@ aloelimile

0@55[30 -
Options :

86435116715
86435116716, 1

86435116717.

86435116718, 3
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Question Number : 78 Question Id : 8643515568 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The equation of one of the straight lines which passes through the point (1, 3) and makes an

angle tan 1 (2] with the straight line, ¥ +1 = 3.J2 x is -
Options :
86435116719, 4V2 x +5y — (15+442) =0

7 ¥ ( » ) —
sea3si16720, T2 X — 5y — (5+442) =0

86435116721, DV2 X +4y — (15 +442) =0

86435116722, 22 X +5y =42 =0

Question Number : 78 Question Id : 8643515568 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(1, 3) agemn enfl3jaflees esmmyealodsymmie ¥ +1=3v2 x agmm emdscrai@aow
@ aldom’ .ta_n_lfﬁ} ag)m Gdhoemd @jalldedlanimmino@ emdeneusmgla ammlen

n‘umma@;maaﬁ:
Options :
86435116719. 42 x +5y — (15+442) =0

42x -5y - 15+442) =0

=

86435116720.

e6a3511670. OV2 X +4y — (15 +442) =0

86435116722, 22 x +5y =42 =0

Question Number : 79 Question Id : 8643515569 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The solutions of the equation

2 gt .
1+sin"x sin"x sin”x

. .
cos?x 1+ cos’x cos“x| =0,(0<x <), are :

4 sin2y 4sin2y 1 + 4 sin2?x

Options :

86435116723, ©

86435116724, 1

86435116725.

86435116726.

Question Number : 79 Question Id : 8643515569 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- : 7
1+ sin“x EII'IEI sin-Xx

cos’x 1 + cos’x cm?x=qm<xqu%whmmnm%mﬂmQMMMmmm@;
4 sin2x 4sin2x 1+ 4 sin2x

Options :

86435116723. ©
86435116724, 12 12

86435116725.

86435116726.
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Question Number : 80 Question Id : 8643515570 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ﬁ
A vector a has components 3p and 1 with respect to a rectangular cartesian system. This

system is rotated through a certain angle about the origin in the counter clockwise sense. If,
* ﬁ 3 *
with respect to new system, a has components p+1 and /10, then a value of p is

equal to :
Options :
86435116727, 1

86435116728, 1

4
86435116729. 2

5
86435116730, +

Question Number : 80 Question Id : 8643515570 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
—
MVJ2ldh0dd (IMEIOE® @PSIMOIMALHs] a af)Mm eCUBSClON calsHamaoem 3p, 1

agyomicd. oo alludle caisleondnadla epworenllmiallem eeslrunomaods] s

caoemanilad @ldaimy. 801 @@ a Qg)Mn OSSO caISHemBtd p+ 1, J10

EDCL @REEMEIED, p &6 MVOWIMOIW B0} MILNMOE:
Options :
86435116727, 1

86435116728, 1

4
86435116729. 9
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H= |

86435116730.

Mathematics Section B

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

864351372
6

Online
Mandatory
10

5

20

Yes

1
864351372
Yes

Question Number : 81 Question Id : 8643515571 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let z;, z, be the roots of the equation 22 +az+12=0 and Z1, 2, form an equilateral triangle

with origin. Then, the value of ja| is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 8643515571 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

zy, Zp ag)mlad zZ+az+12=0 ag)m mAISH)EWIOM SEmEBaoeN. z;, z,

@pwormilmiaymoe ¢aidmm e} MociR(@IedHiemo HeMEIHNIM). af®sl@d, a| @eS

meljo @DEM.
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :
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100

Question Number : 82 Question Id : 8643515572 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let f(x) and g(x) be two functions satisfying f(x%) +g(4 —x)=4x" and g(4 - x) + g(x) =0, then

4

the value of I._f{xz]dx s
-4

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643515572 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

f(x2) +g(4—x)=42>, g4 —x) +g(x) =0 U TVIWYDIBHYT BENE aN6BaUM BRI f(x), g(x)

4
ag@@, [ f(x*)dx agma’  @oaymy.

—4

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643515573 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
. 3 ~_ B 3
" + Tx .
If f(x)= _[ 8 — dx, (x = 0), f(0)=0and f(1)= i_, then the value of K is
(x2 +1+247)° K

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 83 Question Id : 8643515573 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

8 H_('J' .
f(x) = _[ 2F 55 s dx, (x = 0), f(0)=0, f(1)= i @DHIM) af)®ldd, K @ies
(x2 +1 +247) -
mleljo @6,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643515574 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A square ABCD has all its vertices on the curve xzyz =1. The midpoints of its sides also lie on
the same curve. Then, the square of area of ABCD is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643515574 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ABCD ag)m maal®eosion agglo wWlidadasmglo x7y>=1 af)m ollemoaiosm.

@OOIQIOS UWEBEns awiminsjengio @em UEH®@Iad muilale.algimiaalses @,

ik

ABCD @jes alealgallen aidwtoe eagme  @em.
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
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Possible Answers :

100

Question Number : 85 Question Id : 8643515575 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let the plane ax+ by +cz +d =0 bisect the line joining the points (4, —3, 1) and (2, 3, — 5) at
¢

the right angles. If a, b, ¢, d are integers, then the minimum value of {a:l Fb2+ 2 dzj is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 85 Question Id : 8643515575 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

(4, -3, 1), (2,3, —5) agyom] enllmencd cwoklanym eoale®@ ax+by+cz+d=0 agm

®elo MSeHoeMIE qVmEdo HaIQm). a, b, ¢, d QI aljdENMVoRL|dHId @R EM BT,

i

(a2+ b2+ 2+ d2) agym@ean 06T dieljo ag)m@ @6,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643515576 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The equation of the planes parallel to the plane x — 2y + 2z~ 3 =0 which are at unit distance
from the point (1, 2, 3)is ax+ by + cz+d =0. If (b —d)=K(c— a), then the positive value of K
15 S

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
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Question Number : 86 Question Id : 8643515576 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

(1, 2, 3) ey enlloziall@d oflomy @emlg ejeewilenss x— 2y +2z -3 =0 ag)im meleslad
MVDO(MODOIW MELIETBRIONS TVMOUIBYMI6M ax +by +cz+d=0 agom@. (b—d)=K(c—a)
@D@OEY, K &6 madamoajmm catomiiglal mee  @oem.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643515577 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The mean age of 25 teachers in a school is 40 years. A teacher retires at the age of 60 years
and a new teacher is appointed in his place. If the mean age of the teachers in this school

now is 39 years, then the age (in years) of the newly appointed teacher is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643515577 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

80) MidkElnel 25 @W)taldles rondl plo@oe 40 Ay @em. 6} Slald 60 -0o
Uoql@d dsed e.21gsWie @D MOIMEEHS: alleiw Slojd aldlnedlsnsasis®@io

©21QMN). DEA WD @D MidEleal @RUIAIHDINS (DN (oo 39 UMY @M. ag)

i}

@lad, alj®®@owl aldwenlenals Slajoies (lowo (U@Qfld) agomey  @oen.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
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Possible Answers :

100

Question Number : 88 Question Id : 8643515578 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of times the digit 3 will be written when Iistf_ng the integers from 1 to 1000 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 88 Question Id : 8643515578 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

I 3y®@d 1000 AUO® Mosdhd ag)MIEMIONd, 3 ag)iM @RS ag)PI®OQISITN MO
@DE.
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :
100

Question Number : 89 Question Id : 8643515579 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The missing value in the following figure is
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 89 Question Id : 8643515579 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

®6)¥ 6:h0s)ldlanm all@oedlad aflgiealow njele aggmmae . @em.
/z"".....------- | ""'\-\._‘\\
,,\2 3 /
I 1 ."/ 1 ) % 5§

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643515580 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of solutions of the equation |cotr | = cotx + —— in the interval [0, 27] is
sinx

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 90 Question Id : 8643515580 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

cotx| = cotx + —— ag)(Mm e ewlm’ [0, 27] e ensecug@d mowimow
SINX

al@lan0EMBRINS ag)smo @Dy,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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